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N & 0l & AF & E A A
20168 & =0l & LBHSIH S A
SH: BEUAY
M xo @ Ho £
CH9l: DWOIE DIRAHIA CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
IEEL 3, 150
2)EEOY ALEF hAY]
7.,0002 *524 003 3,150
02 BBl 23,863 27,371 ~3,508
2223 2 AMA 21,863
2)olEa UREA 2HE
1,000& %1,300H x12& 15,600
2)OIZ JIEBH FOS=E HRAZE e
36,8003 *91&H *1.7x1.10 6,263
1) =24l 2,000
)L Y I |8 7
2,000,000& 2,000
202 oddl 13,750 13,750 0
01 = LH o4 1l 13,750 13,750 0
1)=2LH O HI 13,750
2)ZER ARFX LAY
50,0003 x5& +553| 13,750
301 L2 Az 13,008 11,446 1,562
0B ARSI =EERAB NS 13,008 11,446 1,562
NASS2AZ % 13,008
2)= 0 178,000& 3 128 6,408
2)E A 6,000& x250 »3Y 4,500
2)uw Sl 2,000 %250 x3H 1,500
2) Mot 2 &2 600,000& 600
405 XHoHF S HI 4,500 0 4,500
01 XL 2 ZFH S| 4,500 0 4,500
NEgLAL Zet=ssI 7Y 4,500,000& 4,500
IIEAAHESE MRXE 49,726 53,192 A 3,466
= 49,726
101 @124 dl 39,781 42,553 N2,772
= 39,781
04 JIZHHZ2XREE S 39,781 42,553 N2, 772
NHFSZRAHASSEMBNA JI2H2 2R 12|
39,781,000& 39,781
= 39,781
201 LBt2E| 9,945 10,639 A 694
= 9,945
01 At 22l 9,945 10,639 A 694
NHAFAAES SAN Lot Al
9,945,000 9,945
= 9,945
HASR Izl 29 15,600 0 15,600
= 15,600
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M3 zol 83 HO £
9l DMOLE DIBAMHIA CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
201 ¢er24| 10,960 0 10,960
= 10,960
01 At 22l 10,960 0 10,960
NEHASR JI=UE&dI|2 2 AtR2elbl
10,960, 000& 10,960
= 10,960
202 O4dl 4,640 0 4,640
2 4,640
01 = LH 4 Hi 4,640 0 4,640
NOHAYR JIZUEI2 2L IO
4,640,000 4,640
2 4,640
2= gRFA 166,978 267,842 A 100,864
201 Let249] 17,978 13,842 4,136
01 At 22l 17,978 12,378 5,600
1) Bt =] 9,200
DAEULET ANSBE 2
100,000& = 12& 1,200
DBBEAN YL HA HBL2E
40,000& »2003l 8,000
negsg 3,150
Q)AEds &Y 70,000& »15H 33| 3,150
1)=&l 5,628
2)Us HRFX OHAH 7,0009 6 *1343] 5,628
202 O4dl 24,000 16,000 8,000
01 = LH 4 Hi 24,000 16,000 8,000
1)= L od bl 24,000
2)AE RFE 2UHA
50,000& »6H »802] 24,000
401 Al HIZ 201 8] 125,000 238,000 A 113,000
01 A& HI 124,100 237,280 A 113,180
NelE Z ALY 2,482,000+50= 124,100
03 Al 2 0HHI 900 720 180
N HHIALS 900,000 900
EX e gRFA 191,599 136,694 54,905
101 @124 dl 14,534 30,200 A 15,666
04 JIZtHZ2REES 14,534 30,200 A 15,666
NEXNSHEEAM 49,0003 x 14«19 13,034
NEXNSHEZA AMRXE B85 1,500,000 1,500
201 ¢er24] 154,415 94,494 59,921
01 At 22/l 96,906 94,494 2,412
1) Bt S| 38,265
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
2)MEBAKNIEXE S T A
2431 +250,000F *50% 3,000
2)MESAXNINEEESH S
66,0003 * 144 53| *50% 2,310
2)NIDEES Y2+
10,0002 =150 2 53] *50% 375
JNNEMNE L BB &4
4,550& *5,900%35% 9,396
2)XNIJbEALZE HEUIOIH 11,000& » 1502 1,650
Q)NXoAS2LZ HAMEXR
36,300 50 A 1,815
2)EEZH ARE 2,424,000& 2,424
2)KIIJEEA Eo AXZ X (1362 8)
40,0003 *90 &+ A *50% 1,800
2Q)EXNIIEM LI AZE 100,0003 *8% 800
2)ML2EZ HEHE M2
1,000, 000& *53| 5,000
2)MESAIXI EEX HUESE HY
31,5002 *191 6,017
2)S2AEE AREE 2Ll
1,000, 000& 14 1,000
2)82dE E2H 425 ¢
2,678,000 » 14! 2,678
1)1 Et 53,279
)28 HI 2 53,279
NAUHEXINAES 37,800 *1,930& *50% 36,477
JJ2eEY XItAS 37,8009 «521H x50% 9,847
3)AAME NItHS 37,8009 x257H x50% 4,858
3)0l2 &l A 18, 150 & 23 1& «50% 2,097
nNegs4 1,890
2)RSHEIIAE 2PaY
70,0003 x9H x33] 1,890
12 3,472
2)EXZe| LRFT 0fAlY|
7,000 x4H 1243 3,472
02 3323l 57,509 0 57,509
DAE&HI X 57,509
2)S2EXNHEAIAE(KLIS)R X2+
362, 188,000& *8.33% 30,171
2)RINBAUIBAAHY RAB%
291,375,000 =8.53%+2,483,070& 27,338
202 odl 12,000 12,000 0
01 = LH o4 1l 12,000 12,000 0
1)=2LH O HI 12,000
2Q)EXN 22| HRFX FUOYI
50,0003 x4 603 12,000




2N
X ZH -
L= B
el

4 14
SN FH-SA(EN) - MBAY - BES e HlnE2
403 UHXSHHSA=0l& 10,650 0 10,650
02 I 2S0ICHEt A == OH & At H 10,650 0 10,650
DKAISEXIEx & 2L X 10,650,000 * 14 10,650
MO HEFA 28,638 26,653 1,985
201 L4l 16,638 18,653 A2,015
01 At 22l 16,638 18,653 22,015
1) Bt 2| 14,853
2)HsiIs L dXEMN, HHJARHE 3,600
AHYSIHE 600& *2,0000H 1,200
JNEHEBSAM 600& *3,0000H 1,800
A= 600& *1,0000H 600
2)== ARl RAAMHE M (238) M Z 200 *4,0000H 800
)0 22 == WA 1,000 +8000H 800
2HHESE L 055 RYBX 7
23,300 108 A 233
)N YINE 28 A2F 2|
9,000 *880& 7,920
2)SHAIHE ohME HAIE HIE
50JH*30,000& 1,500
1)=&l 1,785
2)== 4RI el PRFX HAY
7,000%3& x852] 1,785
202 04 tl 12,000 8,000 4,000
01 = LH A HI 12,000 8,000 4,000
1)=2 Lo 8l 12,000
2)==4t0l PR FA FLHO
50,000& *3H »802] 12,000
S HYRFA 23,680 0 23,680
201 ¢4l 3,680 0 3,680
01 At 2t 2l 3,680 0 3,680
1) B2l 2,000
=BT ERS HE L THTY
,000,000& 1,000
2)=BOIARE ANRSE PY
10&*100,000& 1,000
1)=&l 1,680
2= ALEF OfAY]
7,000& »4H »602 1,680
202 Odl 20,000 0 20,000
01 = LH 4 Hi 20,000 0 20,000
1)=2 Lo 8l 20,000
2)=E0IE ALEZF 2O Y|
50,000 *4%H 1002 20,000
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
F=H30H XA 1,662,327 0 1,662,327
= 1,329,861
< 166,233
= 166,233
307 2Iz2to| & 1,662,327 0 1,662,327
= 1,329,861
= 166,233
= 166,233
05 QIZ2tR EF 2 465,000 0 465,000
NFEHZ20H XH HE2 465,000,000 465,000
= 372,000
=} 46,500
= 46,500
11T A EXAIEEX 1,197,327 0 1,197,327
NEAHSH XA 1,197,327,000& 1,197,327
= 957,861
< 119,733
= 119,733
F0lI = X&E 22 81,966 36,600 45,366
= 24,000
= 2,400
= 55,566
NE d2=FA 40,332 31,800 8,532
201 et d| 20,332 19,800 532
01 AFR 2t 2| H| 20,332 19,800 532
1) B2 H| 11,887
Q)BLHEZH ARE 4,147
NS HED| L3 H 43,340 x50 4 2,167
NS HEE ZHE 1,980 «1,000%&¢ 1,980
Q)PHEXREESER AHA2XPL
20,000) *308r A 600
2Q)EXNOSAAEN EXPY 20,0008 x328F A 640
)X EHAOF HMEH Esdf 2
5,250,000& 5,250
2Q)NEMD cHELXLZERPL
3,000 x150= 450
Q)NEMLD st2&EI| =44
400,000 x2CH*x13] 800
1)J| E} 4,175
Q)SEMNSHEE WNEX =222
167,000 252! 4,175
1)2 &l 4,270
2)XE HdL2=& A 7,000& x5H x1223] 4,270
202 04| 20,000 12,000 8,000
01 2L I 20,000 12,000 8,000
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(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
1)= L od bl 20,000
N G2FX FUHAYI
50,000& *5% »802] 20,000
A& 40 BAHLX ALY 4,800 4,800 0
< 2,400
e 2,400
201 Let2d] 4,800 4,800 0
< 2,400
s 2,400
01 At 22l 4,800 4,800 0
Ned 55 s AtY 4,800,000 4,800
< 2,400
s 2,400
NIASK EHEHE A 10, 164 0 10, 164
201 Let24d] 10,164 0 10, 164
01 At 2teltl 10,164 0 10,164
1)1 Et 10,164
DHNASXHE BHe S22
210& »48,400& 10,164
K& THZE AFA 26,670 0 26,670
= 24,000
s 2,670
201 LB-2dH| 26,670 0 26,670
= 24,000
s 2,670
01 At 22l 26,670 0 26,670
1) 21 Et 26,670
Q)5S+ 2 26,670,000& 26,670
= 24,000
s 2,670
=2 22 37,033 122,767 A 85,734
C2H Y ASHS 2HAY 14,850 14,850 0
201 Let24dy| 14,850 14,850 0
02 =224l 14,850 14,850 0
NM=A ANEH ALY SAES
1,237,500 « 1200 & 14,850
C2HFAARY (KAL) 20,000 20,000 0
401 Al B2 28I 20,000 20,000 0
01 A& HI 20,000 20,000 0
NM=A AIE8 HE L RAES
20,000,000& » 14! 20,000
C2Y FAMNG(BE) 2,183 5,724 A 3,541
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Ha: =0l #F Mo £
SRl M EA 22 A
- _ _ RE]
H-H2 - B9 (3H) - HEAY - BA=S %Ei 2t
403 XX SHHS K20 & 2,183 5,724 N 3,541
02 BSOS XA=2E S AFEHI 2,183 5,724 N 3,541
NERHFTA JE2EE SANES 2,183,000& 2,183
s dAH (Sl 26,400 17,000 9,400
24 26,400 17,000 9,400
=34l 26,400 17,000 9,400
201 LBt 8,100 6,800 1,300
01 AP 22| H| 8,100 6,800 1,300
1) Bt424| 8,100
QBN At 22| 300,000 x27H 8,100
202 044l 10,800 6,000 4,800
01 2L I 10,800 6,000 4,800
NEAN2YE 20| 50,000& x27H 83| 10,800
203 € R =& 7,500 4,200 3,300
01 JI22HYRFAH| 3,300 0 3,300
NESUAY I BRHAREN
275,000 x12& 3,300
04 EASHEHIRFAH| 4,200 4,200 0
NES0A 2ASHARET
350,000 x12& 4,200




